

# A Unified Study of the Inverse Laplace Transform of Aleph- Function Involving General Class of Polynomial and Their Associated Properties

Yudhveer Singh

Faculty of Mathematics, Department of Amity Institute of Information Technology,  
Amity University Rajasthan,  
Jaipur-303002, Rajasthan, India

## ABSTRACT:

The main purpose of this paper is to establish some useful formulae by using the inverse Laplace transform of various product of algebraic power and the Aleph function with general class of polynomial. Some special cases involving generalized hypergeometric function, Mittag-Leffler function, Hermite polynomial and Laguerre polynomial are presented to enhance the utility and importance of our main results.

**Keywords:** Laplace transform, Aleph function, Fox H-function, I-function, generalized hypergeometric function, Mittag-Leffler function, Hermite polynomial and Laguerre polynomial.

**Mathematics Subject Classification 2010 :** 44A10, 33-XX, 33Cxx, 33E12, 33C45.

**1. Introduction:** The Aleph function  $[\aleph]$  introduced by Südlund [12]. The notation and complete definition is presented here in the following manner in terms of the Mellin-Barnes type integrals.

$$\begin{aligned} \aleph[z] &= \aleph_{p_i, q_i, c_i; r}^{m, n}[z] = \aleph_{p_i, q_i, c_i; r}^{m, n} \left[ z \left| \begin{matrix} (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{matrix} \right. \right] \\ &= \frac{1}{2\pi\omega} \oint \Omega_{p_i, q_i, c_i; r}^{m, n}(s) z^{-s} ds, \end{aligned} \quad (1.1)$$

for all  $z \neq 0$ , where  $\Omega = \sqrt{-1}$  and

$$\Omega_{p_i, q_i, c_i; r}^{m, n}(s) = \frac{\prod_{j=1}^m \Gamma(b_j + B_j s) \cdot \prod_{j=1}^n \Gamma(1 - a_j - A_j s)}{\sum_{i=1}^r c_i \prod_{j=n+1}^{p_i} \Gamma(a_{ji} + A_{ji} s) \cdot \prod_{j=m+1}^{q_i} \Gamma(1 - b_{ji} - B_{ji} s)}. \quad (1.2)$$

The integration path  $\Omega = \Omega_{\omega\gamma, \gamma \in R}$  extends from  $\gamma - \omega\infty$  to  $\gamma + \omega\infty$ , and is such that the poles of the gamma functions  $\Gamma(1 - a_j - A_j s)$ ,  $j = \overline{1, n}$  do not coincide with the poles of the gamma functions  $\Gamma(b_j + B_j s)$ ,  $j = \overline{1, m}$ . The parameter  $p_i, q_i$  are non negative integers satisfying  $0 \leq n \leq p_i, 0 \leq m \leq q_i, c_i > 0$  for  $i = \overline{1, r}$ . The parameters  $A_j, B_j, A_{ji}, B_{ji}$  are positive numbers and  $a_j, b_j, a_{ji}, b_{ji}$  are complex. All poles of the integrand (1.2) are assumed to be simple, and the empty product is interpreted as unity. The existence conditions for the defining integral (1.1) are given below:

$$\varphi_l > 0, |\arg(z)| < \frac{\pi}{2} \varphi_l, \quad l = \overline{1, r}; \quad (1.3)$$

$$\varphi_l \geq 0, |\arg(z)| < \frac{\pi}{2} \varphi_l \quad \text{and} \quad \Re\{\zeta_l\} + 1 < 0. \quad (1.4)$$

where

$$\varphi_l = \sum_{j=1}^n A_j + \sum_{j=1}^m B_j - c_l \left( \sum_{j=n+1}^{p_l} A_{jl} + \sum_{j=m+1}^{q_l} B_{jl} \right),$$

$$\zeta_l = \sum_{j=1}^m b_j - \sum_{j=1}^n a_j + c_l \left( \sum_{j=m+1}^{q_l} b_{lj} - \sum_{j=n+1}^{p_l} a_{jl} \right) + \frac{1}{2}(p_l - q_l) \quad l = \overline{1, r}.$$

**Remarks 1.** If we set  $c_1 = c_2 = \dots = c_r = 1$ , then (1.1) reduces to the I-function[14]:

$$I[z] = \mathfrak{N}_{p_i, q_i, 1; r}^{m, n} [z] = \mathfrak{N}_{p_i, q_i, 1; r}^{m, n} \left[ z \left| \begin{matrix} (a_j, A_j)_{1, n}, [1(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [1(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{matrix} \right. \right] = \frac{1}{2\pi\omega} \oint \Omega_{p_i, q_i, 1; r}^{m, n}(s) z^{-s} ds, \tag{1.5}$$

the existence conditions for the integral in (1.5) are the same as given in (1.3) and (1.4) with  $c_1 = c_2 = \dots = c_r = 1$ .

**Remarks 2:** If we set  $r = 1$ , then (1.5) reduces to the familiar Fox  $H$ -Function introduced by Fox [5]:

$$H_{p, q}^{m, n} [z] = \mathfrak{N}_{p_i, q_i, 1; 1}^{m, n} [z] = \mathfrak{N}_{p_i, q_i, 1; 1}^{m, n} \left[ z \left| \begin{matrix} (a_p, A_p) \\ (b_q, B_q) \end{matrix} \right. \right] = \frac{1}{2\pi\omega} \oint \Omega_{p_i, q_i, 1; 1}^{m, n}(s) z^{-s} ds. \tag{1.6}$$

**Definition 1.** The Wright generalized hypergeometric function  $p\Psi_q$  called also the Fox-Wright function is defined as

$$p\Psi_q \left[ \begin{matrix} (a_1, A_1), \dots, (a_p, A_p) \\ (b_1, B_1), \dots, (b_q, B_q) \end{matrix} \middle| z \right] = \sum_{k=0}^{\infty} \frac{\Gamma(a_1 + kA_1) \dots \Gamma(a_p + kA_p)}{\Gamma(b_1 + kB_1) \dots \Gamma(b_q + kB_q)} \frac{z^k}{k!}$$

$$= H_{p, q+1}^{1, p} \left[ -z \left| \begin{matrix} (1 - a_1, A_1), \dots, (1 - a_p, A_p) \\ (0, 1), (1 - b_1, B_1), \dots, (1 - b_q, B_q) \end{matrix} \right. \right] \tag{1.7}$$

**Definition 2.** The General class of polynomials introduced by Srivastava [13] is defined as

$$S_N^M(x) = \sum_{R=0}^{[N/M]} \frac{(-N)_{MR}}{R!} A_{N,R} x^R, \quad N = 0, 1, 2, \dots, \tag{1.8}$$

where  $M$  is a arbitrary positive integer and the coefficients  $A_{N,R} (N, R \geq 0)$  are arbitrary constants, real or complex. By suitably specializing the coefficients  $A_{N,R}$ , the general class of polynomials can be reduced to a number of polynomials and  $(\lambda)_n$  denotes the Pochhammer symbol defined by

$$(\lambda)_n = \frac{\Gamma(\lambda+n)}{\Gamma(\lambda)} = \begin{cases} 1, & \text{if } n=0, \\ \lambda(\lambda+1)\dots(\lambda+n-1), & \forall n \in \{1, 2, 3, \dots\}. \end{cases} \tag{1.9}$$

**2. Main Results**

Now we will obtain the Inverse Laplace transform of various products of algebraic powers and Aleph function with general class of polynomial.

$$(A) \quad L^{-1} \left\{ (p^2 + b^2)^{-\left(\frac{2\mu+1}{2}\right)} \cdot S_N^M [x(p^2 + b^2)^{-\xi_1}] \right. \\ \left. \times \mathfrak{N}_{p_i, q_i, c_i; r}^{m, n} \left[ z(p^2 + b^2)^{-\xi_2} \left| \begin{matrix} (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{matrix} \right. \right]; t \right\}$$

$$= \sum_{R=0}^{[N/M]} \sum_{r'=0}^{\infty} \frac{(-N)_{MR}}{R!} A_{N,R} x^R \sqrt{\pi} \frac{(-1)^r t^{2(\mu+\xi_1 R+r')}}{r'! 2^{2(\mu+\xi_1 R+r')}} b^{2r'}$$

$$\times \mathfrak{N}_{p_i, q_i+2, c_i; r}^{m, n} \left[ \frac{zt^{2\xi_2}}{2^{2\xi_2}} \left| \begin{matrix} (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{matrix} \right. \right], \tag{2.1}$$

where  $h = (\frac{1}{2} - \mu - \xi_1 R, \xi_2), (-\xi_1 R - r' - \mu, \xi_2)$ ,  
 provided that  $\xi_1 \geq 0, \xi_2 \geq 0, \text{Re}(p) > 0$  and  $\text{Re}(2\mu + 1) > 0$ .

$$\begin{aligned}
 (B) L^{-1} & \left\{ \begin{aligned} & \{p + (p^2 + b^2)^{1/2}\}^{-v} S_N^M [x\{p + (p^2 + b^2)^{1/2}\}^{-\xi}] \\ & \times \mathfrak{N}_{p_i, q_i, c_i; r}^{m, n} \left[ z\{p + (p^2 + b^2)^{1/2}\}^{-\rho} \left| \begin{array}{l} (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{array} \right. ; t \right] \end{aligned} \right\} \\
 & = \sum_{R=0}^{[N/M]} \sum_{r'=0}^{\infty} \frac{(-N)_{MR}}{R!} A_{N,R} x^R \frac{(-1)^{r'}}{r'!} \left(\frac{t}{2}\right)^{v+2r'-\xi R-1} \cdot b^{2r'} \\
 & \times \mathfrak{N}_{p_i+1, q_i+2, c_i; r}^{m, n+1} \left[ z \left(\frac{t}{2}\right)^{\rho} \left| \begin{array}{l} h_1, (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r}, h_2 \end{array} \right. \right], \tag{2.2}
 \end{aligned}$$

where  $h_1 = (-v - \xi R, \rho)$  and  $h_2 = (-v - r' - \xi R, \rho), (1 - v - \xi R, \rho)$ ,  
 provided that  $\xi \geq 0, \rho \geq 0, \text{Re}(p) > 0$  and  $\text{Re}(v + \rho s) > 0$ .

$$\begin{aligned}
 (C) L^{-1} & \left\{ \begin{aligned} & p^{-2\lambda} (p^2 + b^2)^{-v} S_N^M [x p^{-2\delta} (p^2 + b^2)^{-\mu}] \\ & \times \mathfrak{N}_{p_i, q_i, c_i; r}^{m, n} \left[ z p^{-2\rho} (p^2 + b^2)^{-\sigma} \left| \begin{array}{l} (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{array} \right. ; t \right] \end{aligned} \right\} \\
 & = \sum_{R=0}^{[N/M]} \sum_{r'=0}^{\infty} \frac{(-N)_{MR}}{R!} A_{N,R} x^R \frac{(-1)^{r'}}{r'!} \left(\frac{b}{2}\right)^{2r'} \cdot t^{2(\lambda+v+r'+\delta R+\mu R)-1} \\
 & \times \mathfrak{N}_{p_i+3, q_i+4, c_i; r}^{m, n+3} \left[ z t^{2(\rho+\sigma)} \left| \begin{array}{l} h_3, (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r}, h_4 \end{array} \right. \right], \tag{2.3}
 \end{aligned}$$

where  $h_3 = (1 - v - r' - \mu R, \sigma), (1 - v - \lambda - \delta R - \mu R, \rho + \sigma),$   
 $(\frac{1}{2} - \lambda - v - \delta R - \mu R, \rho + \sigma)$  and  $h_4 = (\frac{1}{2} - \lambda - v - r' - \delta R - \mu R, \rho + \sigma),$   
 $(1 - 2\lambda - 2v - 2\delta R - 2\mu R, 2\rho + 2\sigma), (1 - v - \mu R, \sigma), (1 - \lambda - v - \delta R - \mu R, \rho + \sigma),$   
 provided that  $\text{Re}(p) > 0, \text{Re}(\lambda) > 0, \text{Re}(v) \geq 0$ .

$$\begin{aligned}
 (D) L^{-1} & \left\{ \begin{aligned} & (p^2 + b^2)^{-1/2} \{p + (p^2 + b^2)^{1/2}\}^{-\lambda} S_N^M [x\{p + (p^2 + b^2)^{1/2}\}^{-\gamma}] \\ & \times \mathfrak{N}_{p_i, q_i, c_i; r}^{m, n} \left[ z\{p + (p^2 + b^2)^{1/2}\}^{-\rho} \left| \begin{array}{l} (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{array} \right. ; t \right] \end{aligned} \right\} \\
 & = \sum_{R=0}^{[N/M]} \sum_{r'=0}^{\infty} \frac{(-N)_{MR}}{R!} A_{N,R} x^R \frac{(-1)^{r'}}{r'!} \left(\frac{t}{2}\right)^{\lambda+2r'+\gamma R} b^{2r'} \\
 & \times \mathfrak{N}_{p_i, q_i+1, c_i; r}^{m, n} \left[ z \left(\frac{t}{2}\right)^{\rho} \left| \begin{array}{l} (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r}, (-\lambda - r' - \gamma R, \rho) \end{array} \right. \right], \tag{2.4}
 \end{aligned}$$

provided that  $\text{Re}(p) > 0, \text{Re}(\lambda) > -1$  and  $\text{Re}(\rho s + \lambda) > -1$ .

**Proof:** By using the definition of the Aleph-function {Eq.(1.1) and (1.2)} and the general class of polynomial {Eq.(1.7)} in the L.H.S of (2.1), we have

$$= \frac{1}{2\pi\omega} \oint \Omega_{p_i, q_i, c_i; r}^{m, n}(s) z^{-s} \sum_{R=0}^{[N/M]} \frac{(-N)_{MR}}{R!} A_{N,R} x^R L^{-1} \left\{ (p^2 + b^2)^{-\left(\frac{2\mu+1}{2} + \xi_1 R - \xi_2 s\right)}; t \right\} ds,$$

Now, by using the known Result [4,p.239,Equ.(18)].

$$= \sum_{R=0}^{N/M} \frac{(-N)_{MR}}{R!} A_{N,R} x^R \sqrt{\pi} \cdot \left(\frac{t}{2b}\right)^\mu \times \frac{1}{2\pi\omega} \oint \Omega_{p_i, q_i, c_i; r}^{m, n}(s) \frac{1}{\Gamma\left(\mu + \xi_1 R - \xi_2 s + \frac{1}{2}\right)} z^{-s} \left(\frac{t}{2b}\right)^{-\xi_2 s} J_{\mu + \xi_1 R - \xi_2 s}(bt) ds,$$

Now, expanding  $J_{\mu + \xi_1 R - \xi_2 s}(bt)$  in summation form and after little simplification we get

$$= \sum_{R=0}^{[N/M]} \sum_{r'=0}^{\infty} \frac{(-N)_{MR}}{R!} A_{N,R} x^R \sqrt{\pi} \frac{(-1)^{r'}}{r'!} \frac{t^{2(\mu + \xi_1 R + r')}}{2^{2(\mu + \xi_1 R + r')}} b^{2r'} \times \mathfrak{K}_{p_i, q_i + 2, c_i; r}^{m, n} \left[ \frac{zt^{2\xi_2}}{2^{2\xi_2}} \left| \begin{matrix} (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r, h} \end{matrix} \right. \right], \tag{2.5}$$

where  $h = \left(\frac{1}{2} - \mu - \xi_1 R, \xi_2\right), (-\xi_1 R - r' - \mu, \xi_2),$

similarly, The proofs of (2.2) through (2.4) can be established by using the definition of the Aleph- function and known result [4,p.240,Eq.(21)], [4,p.238,Eq.(10)] & [4,p240,Eq.23].

**3. Particular Cases**

(a) As mention above, when  $c_i = 1, \forall i = 1, \dots, r,$  the Aleph-function reduces to the I-function and as well as If we take  $r = 1$  in L.H.S. of (2.1), then I-function reduces to familiar Fox’s H-function, we arrive at the following result

$$L^{-1} \left\{ (p^2 + b^2)^{-\left(\frac{2\mu+1}{2}\right)} \cdot S_N^M [x(p^2 + b^2)^{-\xi_1}] \cdot \mathfrak{K}_{p_i, q_i, 1; 1}^{m, n} \left[ z(p^2 + b^2)^{-\xi_2} \left| \begin{matrix} (a_p, A_p) \\ (b_q, B_q) \end{matrix} \right. \right]; t \right\} = \sum_{R=0}^{[N/M]} \sum_{r'=0}^{\infty} \frac{(-N)_{MR}}{R!} A_{N,R} x^R \sqrt{\pi} \frac{(-1)^{r'}}{r'!} \frac{t^{2(\mu + \xi_1 R + r')}}{2^{2(\mu + \xi_1 R + r')}} b^{2r'} \cdot H_{p, q+2}^{m, n} \left[ \frac{zt^{2\xi_2}}{2^{2\xi_2}} \left| \begin{matrix} (a_j, A_j)_{1, n}, (a_j, A_j)_{n+1, p} \\ (b_j, B_j)_{1, m}, (b_j, B_j)_{m+1, q, h} \end{matrix} \right. \right], \tag{3.1}$$

where  $h = \left(\frac{1}{2} - \mu - \xi_1 R, \xi_2\right), (-\xi_1 R - r' - \mu, \xi_2).$

Similarly, we can find (2.2), (2.3) and (2.4) .

(b) Replacing  $\mathfrak{K}_{p_i, q_i, c_i; r}^{m, n} \left[ z\{p + (p^2 + b^2)^{1/2}\}^{-\rho} \left| \begin{matrix} (a_j, A_j)_{1, n}, [c_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [c_i(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{matrix} \right. \right]$

by  $\mathfrak{K}_{p_i, q_i, 1; 1}^{m, n} \left[ z\{p + (p^2 + b^2)^{1/2}\}^{-\rho} \left| \begin{matrix} (a_j, A_j)_{1, n}, (a_j, A_j)_{n+1, p} \\ (b_j, B_j)_{1, m}, (b_j, B_j)_{m+1, q} \end{matrix} \right. \right],$

in L.H.S of (2.2), we obtained the following results

$$L^{-1} \left\{ \begin{aligned} & \{p + (p^2 + b^2)^{1/2}\}^{-v} S_N^M [x\{p + (p^2 + b^2)^{1/2}\}^{-\xi}] \\ & \times \mathfrak{K}_{p_i, q_i, 1; 1}^{m, n} \left[ z\{p + (p^2 + b^2)^{1/2}\}^{-\rho} \left| \begin{array}{l} (a_j, A_j)_{1, n}, (a_j, A_j)_{n+1, p} \\ (b_j, B_j)_{1, m}, (b_j, B_j)_{m+1, q} \end{array} \right. \right]; t \end{aligned} \right\} \\ = A^* \cdot \sum_{r'=0}^{\infty} \frac{(-1)^{r'}}{r'!} \left(\frac{t}{2}\right)^{v+2r'} \cdot t^{-1} b^{2r'} \times H_{p+1, q+2}^{m, n+1} \left[ z \left(\frac{t}{2}\right)^{\rho} \left| \begin{array}{l} h_1, (a_j, A_j)_{1, n}, (a_j, A_j)_{n+1, p} \\ (b_j, B_j)_{1, m}, (b_j, B_j)_{m+1, q}, h_2 \end{array} \right. \right], \tag{3.2}$$

where  $h_1 = (-v - \xi R, \rho)$  and  $h_2 = (-v - r' - \xi R, \rho), (1 - v - \xi R, \rho)$ ,

Further, if we use the identity (1.7) in eq.(3.2), then after a little simplification, we arrive at the following result

$$= A^* \cdot \sum_{r'=0}^{\infty} \frac{(-1)^{r'}}{r'!} \left(\frac{t}{2}\right)^{v+2r'} \cdot t^{-1} b^{2r'} p + 1^{\Psi} q + 2 \left[ \begin{array}{l} (-v - \xi R, \rho), (a_p, A_p) \\ (b_q, B_q), (-v - r' - \xi R, \rho), (1 - v - \xi R, \rho) \end{array} \right]; -z \left(\frac{x}{2}\right)^{\rho} \Big], \tag{3.3}$$

where  $A^* = \sum_{R=0}^{[N/M]} \frac{(-N)_{MR}}{R!} A_{N,R} x^R$  and  $p + 1^{\Psi} q + 2$  generalized hypergeometric function [7].

Similarly, we can find (2.1), (2.3) and (2.4).

(c) Reducing the General class of polynomial  $S_N^M$  to  $H_V(x)$  Hermite polynomial ([1] and [2]) and also if we take  $c_i = 1, i = 1 \dots r$  in L.H.S of (2.3), then Aleph-function reduces to the  $I$ -function [14], we obtain the following result after a little simplification.

$$L^{-1} \left\{ \begin{aligned} & p^{-2\lambda} (p^2 + b^2)^{-v} [xp^{-2\delta} (p^2 + b^2)^{-\mu}]^{\frac{N}{2}} H_V \left[ \frac{1}{2\sqrt{x} p^{-2\delta} (p^2 + b^2)^{-\mu}} \right] \\ & \times \mathfrak{K}_{p_i, q_i, 1; r}^{m, n} \left[ zp^{-2\rho} (p^2 + b^2)^{-\sigma} \left| \begin{array}{l} (a_j, A_j)_{1, n}, [1(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [1(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{array} \right. \right]; t \end{aligned} \right\} \\ = \sum_{R=0}^{[N/2]} \sum_{r'=0}^{\infty} \frac{(-N)_{2R}}{R!} (-1)^R x^R \frac{(-1)^{r'}}{r'!} \left(\frac{b}{2}\right)^{2r'} \cdot t^{2(\lambda+v+r'+\delta R+\mu R)-1} \\ \times I_{p_i+3, q_i+4; r}^{m, n+3} \left[ zt^{2(\rho+\sigma)} \left| \begin{array}{l} h_3, (a_j, A_j)_{1, n}, [(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [(b_{ji}, B_{ji})]_{m+1, q_i; r}, h_4 \end{array} \right. \right], \tag{3.4}$$

where  $h_3 = (1 - v - r' - \mu R, \sigma), (1 - v - \lambda - \delta R - \mu R, \rho + \sigma)$ ,

$\left(\frac{1}{2} - \lambda - v - \delta R - \mu R, \rho + \sigma\right)$  and  $h_4 = \left(\frac{1}{2} - \lambda - v - r' - \delta R - \mu R, \rho + \sigma\right)$ ,

$(1 - 2\lambda - 2v - 2\delta R - 2\mu R, 2\rho + 2\sigma), (1 - v - \mu R, \sigma), (1 - \lambda - v - \delta R - \mu R, \rho + \sigma)$ ,

Similarly, we can find (2.1), (2.2) and (2.4).

(d) If we reduce the  $S_N^M(x)$  polynomial to the Laguerre polynomial  $L_N^{\alpha'}(x)$  ([1] and [2]) and the Aleph-function to the familiar Fox's H-function [6], we obtain the following result after a little simplification.

$$L^{-1} \left\{ \begin{aligned} & (p^2 + b^2)^{-1/2} \{p + (p^2 + b^2)^{1/2}\}^{-\lambda} L_N^{\alpha'} [x\{p + (p^2 + b^2)^{1/2}\}^{-\nu}] \\ & \times \mathfrak{K}_{p_i, q_i, 1; 1}^{m, n} \left[ z\{p + (p^2 + b^2)^{1/2}\}^{-\rho} \left| \begin{array}{l} (a_j, A_j)_{1, n}, [C_i(a_{ji}, A_{ji})]_{n+1, p_i; r} \\ (b_j, B_j)_{1, m}, [C_i(b_{ji}, B_{ji})]_{m+1, q_i; r} \end{array} \right. \right]; t \end{aligned} \right\}$$

$$\begin{aligned}
&= \sum_{R=0}^{[N]} \sum_{r=0}^{\infty} \frac{(-N)_R}{R!} \binom{N+\alpha'}{N} \frac{1}{(\alpha'+1)_R} x^R \frac{(-1)^{r'}}{r'!} \left(\frac{t}{2}\right)^{\lambda+2r'} b^{2r'} \\
&\times H_{p,q+1}^{m,n} \left[ z \left(\frac{t}{2}\right)^{\rho} \left| \begin{array}{c} (a_j, A_j)_{1,n}, (a_j, A_j)_{n+1,p} \\ (b_j, B_j)_{1,m}, (b_j, B_j)_{m+1,q}, (-\lambda-r', -\gamma R, \rho) \end{array} \right. \right]
\end{aligned} \tag{3.5}$$

If now we set  $m = n = p = q - 1 = 1$  and use the identity [5, section 18.1] in (3.5), the H-function reduces to the Mittag-Leffler function and the following result is obtained

$$= \sum_{R=0}^{[N]} \sum_{r=0}^{\infty} \frac{(-N)_R}{R!} \binom{N+\alpha'}{N} \frac{1}{(\alpha'+1)_R} x^R \frac{(-1)^{r'}}{r'!} \left(\frac{t}{2}\right)^{\lambda+2r'} b^{2r'} E_{-\rho, \lambda+r'+\gamma R+1} \left[ -z \left(\frac{t}{2}\right)^{\rho} \right], \tag{3.6}$$

where  $E_{-\rho, \lambda+r'-\xi_1 R+1}$  is Mittag-Leffler function [3,p.65,Eq.(2.9.28)]. Similarly, we can find (2.1), (2.2) and (2.3).

## References

- [1] H. M. Srivastava and N. P. Singh, The integration of certain products of the multivariable H-function with a general class of polynomials, *Rend. Circ. Mat. Palermo* 2(32) (1983), 157–187.
- [2] C. Szego, *Orthogonal polynomials*, Amer. Math. Soc. Colloq. Publ. 23 Fourth edition, Amer. Math. Soc. Providence, Rhode Island (1975).
- [3] A.A. Kilbas, and M. Saigo, *H-Transform : Theory and applications*, Chapman & Hall/CRC, New York, (2004).
- [4] A. Erdelyi et al., *Tables of Integral Transforms*, vol. 1<sup>st</sup>. McGraw-Hill, New York, 1954.
- [5] A. Erdelyi, W. Magnus, and F.G. Oberhittinger, *Higher Transcendental Functions*, vol. 3. McGraw-Hill, New York, 1955.
- [6] C. Fox, The G and H-functions as symmetrical Fourier kernels, *Trans Amer. Math. Soc.* 98 (1961) 385–429.
- [7] K.C. Gupta and R.C. Sony, On a basic formula involving the product of  $\bar{H}$ -function and Fox H-function, *J.Raj.Acad.Phy.Sci.*, 4(2005), 157-164.
- [8] V.B.L. Chaurasia and Hari Singh Parihar, On the inverse Laplace transform of  $\bar{H}$ -function associated with Feynman types integral, *Tamkang J. Maths.*, 39(4) (2008), 341-346.
- [9] V.B.L. Chaurasia and Y. Singh, New generalization of integral equations of Fredholm type using Aleph-function, *Int. J. Modern Math. Sci.*, 9(3) (2014), 208-220.
- [10] V.B.L. Chaurasia and Y. Singh, Marichev-Saigo-Maeda fraction integration operators of certain special functions, *Gen., Math. Notes*, 26(1), (2015), 134-144.
- [11] V.B.L., Chaurasia and Y. Singh, Lambert's Law and Aleph function, *Int. J. Modern Math. Sci.*, 4(2) (2012), 84-88.
- [12] N. Südländ, B. Baumann and T.F. Nonnenmacher, Who know about the Aleph ( $\aleph$ )-function? *Fract. Clac. Appl. Anal.* 1 (4) (1998): 401-40.
- [13] H. M. Srivastava, A contour integral involving Fox's H-function, *Indian J. Math.* 14 (1972), 1–6.
- [14] V.P. Saxena, A formal solution of certain new pair of dual integral equations involving H-

functions, Proc. Nat. Acad. Sci., India 52(A) III (1982), 366-375.

- [15]. D.Kumar, J. Singh and D. Baleanu, “Numerical computation of a fractional model of differential-difference equation”, Journal of Computational and Nonlinear Dynamics, 11:6 (2016), 061004.
- [16]. H.M. Srivastava, D. Kumar and J. Singh, “An efficient analytical technique for fractional model of vibration equation”, Applied Mathematical Modelling, 45 (2017), 192–204.
- [17]. H.M. Srivastava, R.C. Singh Chandel and P.K. Vishwakarma, Fractional derivatives of certain generalized hypergeometric functions of several variables, J. Math. Anal. Appl., 184 (1994), 560-572.

